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𝑓(𝑥) =
2

𝑥 − 3											𝐷! =]3;∞., 𝑊! =10;∞[	 

𝑦 =
2

𝑥 − 3 

Nach x auflösen, mit (x-3) multiplizieren, durch y teilen 

𝑥 − 3 =
2
𝑦 

𝑥 =
2
𝑦 + 3 

„Umkehrungsschritt“ x und y tauschen: 

𝑦 =
2
𝑥 + 3 

𝑓"#(𝑥) =
2
𝑥 + 3											𝐷!

!" =]0;∞.											𝑊!!" =		13;∞[		 
 
Weiteres Beispiel: 
 

𝑔(𝑥) = 𝑦 = (𝑥 + 1)$ + 4							𝐷% = ℝ	[−1;∞[								𝑊% = [4,∞[		 
𝑦 = (𝑥 + 1)$ + 4 

𝑦 − 4 = (𝑥 + 1)$													|	;  
;𝑦 − 4 = 𝑥 + 1 
𝑥 = ;𝑦 − 4 − 1 
𝑦 = √𝑥 − 4 − 1 

𝑔"#(𝑥) = √𝑥 − 4 − 1 
𝐷%!" = [4;∞[											𝑊%!" = [−1;∞[ 

 
 
 


